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Question Number : 1 Question Id : 8801791035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
e terabyte (TE) can also be written as:

Options:

Question Number : 1 Question Id : 8801791035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
e SIS (STell) T ______ d &0 1 ot Torar =1 w8

Options:
;w220

Question Number : 2 Question Id : 8801791036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A condition when the cornputer is NOT supplying data fast encough to the CD writer is called

Options:
1. * puffer overrun

2 % puffer underrun
3. % puffering
4 % puffer overdrive

Question Number : 2 Question Id : 8801791036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
________ e UHT TET 8, el e |IST TI5e] 1 dwil & ST #1 SMYja gl #4151 ]

Options:
1. ¥ gy affewed (Buffer overrun)
= ¥ gt szt (Buffer underrun)




3. ® g Buffering)
4. % T AERETEd (Buffer overdrive)

Question Number : 3 Question Id : 8801791037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
is a standard that sets standards for comrmunication between paralle]l peripherals.

Options:

1. ®# R5-222
= % R5-23Z2a
3. % CATGS

4 % [EEE 12384

Question Number : 3 Question Id : 8801791037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
e ATAF & AT TATAEE Ticeit=t & effer T & o A fererfivg #aT 2

Options:
1. ®# R5-232

2. % RS-232a
3. % CATS
4. % [EEE 1284

Question Number : 4 Question Id : 8801791038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
what is the capacity of 2-112 inch floppy disk?

Options:

1. ¥ 400 KE to 1.44 ME
2 % 2E0KEBto 1.2 MB
2. % 400KE to 2.44 ME
4 % ZE0KEto 3.2 MB

Question Number : 4 Question Id : 8801791038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
3-1)2 T WA [Ee® & gHaT T4 57
Options:

1.9 400 KB to 1.44 ME

Z % ZE0KEto 1.2 MB

3. % 400KE to 2.44 ME

4. % 260KEt0 3.2 ME

Question Number : 5 Question Id : 8801791039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
11 an Outline view, how to show all headings with the Heading 1 style?

Options:
1.9 ALT + SHIFT + 1
= # CTEL + SHIFT + 1



3. % SHIFT + 1
4. % AlT+1

Question Number : 5 Question Id : 8801791039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

T g H, A (FREm 1 ST o e wt et @ A e g
Options:

1. ¥ ALT + SHIFT + 1

2 % CTRL + SHIFT + 1

3. ® SHIFT + 1

4 % AIT +1

Question Number : 6 Question Id : 8801791040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

If an MS Excel Worksheet is to be linked in a PowerPoint 2013 presentation, then which of the following
corrunands should be used?

Options:

1. % Paste Special cormrmand
2. % Picture corrmmand

2. % Copy cormrmand

4. % Paste corrrnand

Question Number : 6 Question Id : 8801791040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Tt 7w M5 Excel aediie #1 PowerPoint Weqid ¥ AT A= &, 91 9 # & o FATE &7 JU=ii T =T angy?

Options:

1. ¥ Paste Special cormrmand
2. % Picture corrmmand

2. # Copy cormrmand

4 #* Paste cornrmarnd

Question Number : 7 Question Id : 8801791041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
which printer is very cormunonly used for desktop publishing?

Options:

1. % Laser printer

= % Inkjet printer

3. % Daisywheel printer

4. % Dot-rmatrix printer

Question Number : 7 Question Id : 8801791041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Eeme T Tlectia o Tony Tomey e &7 JunT e o o =T 27
Options:

1. & @< eT (Laser printer)

2. % Z@e fHer (Inkjet printer)



3. ® Zefiegiar e (Daisywheel printer)
4, % =Tz Afegw ew (Dot-matrix printer)

Question Number : 8 Question Id : 8801791042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which unit 15 used to rate the spealers?

Options:

1. ¥ Watt
= % Farad
3. % Henry

4. % Armpere

Question Number : 8 Question Id : 8801791042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
TR T {2 T o (ol O SarTE o ST T =aT 27

Options:

1. ¥ 37 (Watt)

2. % Uz (Farad)

3. % 290 Henry)

4, % UHAR (Ampere)

Question Number : 9 Question Id : 8801791043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A mermory card reader is a device used for ______ with a srnart card.
Options:

1. * interfacing

2 ¥ Ccormrmnication

3. % portability

4. % switching

Question Number : 9 Question Id : 8801791043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
HANT T2 TI=¢ UF S0 3 T Ui €01E #1e. o Tl

Options:

1. ¥ Z=v4 finterfacing)

2. ¥ T (Communication)
3. % ORTETERT (portability)
4, % eI (switching)

Question Number : 10 Question Id : 8801791044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Camera phones and sorme high-end standalone digital cameras may use the following networks to connect for
sharing images:

Options:

1. % Modular networks

2 % Cellular networks



2. % Virtual private networks
4. % WSN networks

Question Number : 10 Question Id : 8801791044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

FRIEH 3K 7 TE-UrE TEoale e Niee FAL STt 1 AT @t & fofy Faad & & R e w7 Swei 9% aad 27
Options:

1. % fiae Jrad (Modular networks)

2 ¥ GFe drdd (Cellular networks)

3. % gejard Wigde Heaer (Virtual private networks)

4 % zZegEud Hedd (WS networks)

Question Number : 11 Question Id : 8801791045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which short cut key is used to enter the current date in M5 Excel?

Options:

1.9 Ctrl + ;
2. % Shift +;
3% Ctrl +
4, % Alt 4+

Question Number : 11 Question Id : 8801791045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Microsoft Excel § ad A [oAmr g1 ®2- o o7 T ATdere grait @ Sed AT T ST 57
Options:

1. ¥ Cirl +;

2. % Shift +;

3.0% Crl +

4. % Alt +

Question Number : 12 Question Id : 8801791046 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
which of the following operating systermns has built-in security features called as Windows Firewall?

Options:

1. % Windows 95
2. ¥ Windows 7
2. % windows ME

4. % windows 98

Question Number : 12 Question Id : 8801791046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Tt 8 & e AR feen o fAfiT qeam gigen & He wrewata w51 9a7 27
Options:

1. ® Windows 95

= ¥ Windows 7




= ® windows ME
4. % windows 98

Question Number : 13 Question Id : 8801791047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following staterments is true in the context of Watermark?

Options:

1. ® & watermark can be applied only to a single page in a document.
2. % A watermark is not visible to viewers in a hard copy.

I ¥ A watermark is a ghost tesxt.

4. ¥ The colour of a watermark cannot be changed.

Question Number : 13 Question Id : 8801791047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
dTeeAT & Hed # Mg # S e i mee Ao 87

Options:

1. % STecameh drdel U gedlds H U Y8 UT #] T A7 §edT 3]
2. % glerard g8 Al H FAR! & T SemHE AR g

3. v TTeTATE e T1a 2]

4, % FlaTHTd E T dSAT A5 AT e

Question Number : 14 Question Id : 8801791048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
______ consists of step-by-step instructions that tells the computer how to cormplete a taslk,

Options:

1. ¥ Program
2. % Hardware
3. % Data

4, ¥ Objects

Question Number : 14 Question Id : 8801791048 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

______ H TRUT-GX-TR0T & gid § AT e i T QT we o TR R gl
Options:

1. & U (Prograrm)

2. % gEdaw Hardware)

2 ® 2T (Data)

4 % sfesigd (Objects)

Question Number : 15 Question Id : 8801791049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
what will be the output for the function ISMA(L JO) in OpenCffice Calc?

Options:
1. ¥ TRUE
= W FALSE



3. % NULL
4. %0

Question Number : 15 Question Id : 8801791049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
OpenCffice Calc HISMA(L [ 0) s & TolT ATy T gTT?

Options:
1. ¥ TRUE
= ¥ FALSE
3. % MNULL
4 %0

Question Number : 16 Question Id : 8801791050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
By what narme is the background of the screen krnown?

Options:

1. ¥ Desktop

2. % Application
2. % Window

4. % Frame

Question Number : 16 Question Id : 8801791050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TR I T g T TR AT ST AT 87
Options:

1. ¥ Zwwa

2. % gitereraeT

3. % fEr (window)

4. % 5H

Question Number : 17 Question Id : 8801791051 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
To change the display background, which of the following properties need to be altered?

Options:

1. ¥ Display
2. % Printer
3. % Folder

4. % Taskbar

Question Number : 17 Question Id : 8801791051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Options:

1. ¥ fee

2 % e



= ® qeEv
4 R TEma

Question Number : 18 Question Id : 8801791052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
If a desktop wallpaper size (resolution) is S00xE00, then 200 represents:

Options:

1. # theme
= % deep
3. ¥ wide

4 % colour

Question Number : 18 Question Id : 8801791052 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A 2RI & ST HT AR (KA Tegae) S800xE600 g, T 800 FT gariar 87

Options:

1. % dim
o % Zm
3. ¥V aEs
4. ® P

Question Number : 19 Question Id : 8801791053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
______ prograr is developed to promote the use of power managerment technology in Cormputer equipinent.

Options:

1. % GreenIT

= ¥ Energy Star
3. ® Five Star

4. % Green Cormputing

Question Number : 19 Question Id : 8801791053 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
T U H el Merer Wit @ JU=riT & e Tar & o foiy

Options:

1. % T améer
2 ¥ T W
3 ® U e

4. % s

Question Number : 20 Question Id : 8801791054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which is NOT the mandatory Corrponernt to set up the cormputer systern?

Options:
1. % Cormputer hardware

= % Operating systerm



3. # Systern software

4. ¥ application software

Question Number : 20 Question Id : 8801791054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Y e H TTiUT e @ oy arfeat aew #1991 981 87
Options:

1. ® et greder (Computer hardware)

2. % e Meen (Operating systern)

% % Ty 9T (System software)

4. ¥ yitarras "Tred=T (Application software)

Question Number : 21 Question Id : 8801791055 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
_____ cryptography schemes are generally categorised as being either stream ciphers or block ciphers.

Options:

1. % Secret key algorithm
2. % Public kev algorithm
3. % Hash function

4. % Popular key algorithm

Question Number : 21 Question Id : 8801791055 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
_____ eI TEIT Terea T T WOTIRT T STTH 91 UF & 11 %L A7 seileh % & &0 H g a1 ST gl

Options:

1. ¥ Tiehe @ (key) TeTITEW
2 % gfectd & (key) TeTiTg
%, % 2o thepar

4 % OIgeR @ (key) TeTHCEH

Question Number : 22 Question Id : 8801791056 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

In cryprographic algorithms, anyone intercepting the encrypted message will see the _____
Options:

1. % actual data

2 % random data

3. % plain text

4. % decrypted text

Question Number : 22 Question Id : 8801791056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TR T e | Uiaes #e 1 aTeRg 0 aTdT B 4 =i ____ =
Options:

1. % Wi Hwe B
2. ¥ AgRE® e (=0 2T W



3. % o e @l
4, % Tomiz w1

Question Number : 23 Question Id : 8801791057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Triple DES systerms are than single DES.

Options:
1. ¥ slower
= % faster

3. % gimilar
4 # both faster & similar

Question Number : 23 Question Id : 8801791057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Touw TS (DES) Freew ueer 150d (DES) & ______ B9 2
Options:

1. Famay o

2. % FETda

3. ¥ 0w ]

4, % ZAT TR 99 oW UF ST

Question Number : 24 Question Id : 8801791058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
when testing should be stopped?

Options:

1. % when all test cases are done
2. % Wwhen vou run out of time

= % when all bugs are fixzed

4. ¥ when quality goals established in the beginning of the project are met

Question Number : 24 Question Id : 8801791058 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
TCTTOT T el T oeAT STE0?

Options:

1. % T Tt OeiegoT S TATH 5T A

2. ® S I UTH HOT GHT 5 ST 8
3. % FgadtaT &F e U §

4, oI GICAT ST EaTT | T e AT B O T ST

Question Number : 25 Question Id : 8801791059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Test procedure 15

Options:
1. % collection of test plans

2. % combination of test plan and test cases



= % collection of test cases

4, % poth collection of test plans & combination of test plan and test cases

Question Number : 25 Question Id : 8801791059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Options:

1. % Ourymr TaTet & '

2. % QU ARAAT 1T T ST T A

=, & iy S T HUE

4. ¥ ZIAT U ST T TE A AT AT S T g & S

Question Number : 26 Question Id : 8801791060 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
EitTorrent File has file format.

Options:
1. % torrent

= % hitorrent
= ¥ Dbittorent
4. % pit

Question Number : 26 Question Id : 8801791060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TaiT THT B8 (EitTorrent File) % ®Tgd B8 ______ L

Options:

1. % torrent
2. % Dbitorrent
3. % bittorent
4 % it

Question Number : 27 Question Id : 8801791061 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
DEY is the file format for files.

Options:
1. % animation | movie

2. ¥ systermn
= % audio

4, % image

Question Number : 27 Question Id : 8801791061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
DRV BTEd BHe T BIEd TR 57
Options:

1. % gfewa | e

2 ey



= % Tz
4. % BF (58

Question Number : 28 Question Id : 8801791062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Howr miany part(s) does an ermail address has [ have (separated by a special symbol &)Y

Options:

1. * single part
= ¥ Two parts

3. % Three parts

4. % Four parts

Question Number : 28 Question Id : 8801791062 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
SHe o # Tt AT gia 8 (e weter '@ e e g

Options:

1. % T&F 9
o ¥ Ty
3 % fTam
4. % oA

Question Number : 29 Question Id : 8801791063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

______ is the conwversion of a sampled signal, which is discrete in tirme but continuous in value, into a signal
which 15 discrete in value.

Options:

1. # Packetising
2. ¥ Cuantisation
2. % Encoding

4. % Sampling

Question Number : 29 Question Id : 8801791063 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
______ T TR A& T &0ia< 2, A a0 § o (ki) § ofes o f Fiaw 8, o o 8 = gra F s (2w 2

Options:

1. % O

2. o FTi=dtaT (MATE )
3. % TR ITET (FeerE)

4. ® Hqigm

Question Number : 30 Question Id : 8801791064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Wwhat is the natural mask for a class C network?

Options:
1. % 255 255 255 255

2. % 255 2ES 2550



3. ¥ 255 255 2551
4. % 255 255 255254

Question Number : 30 Question Id : 8801791064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

T C e & T g AT e 8
Options:

1. ¥ 255 255 255 355

= & 255 255 2550

3. % 205 255 2SSl

4 % 255 255 255 254

Question Number : 31 Question Id : 8801791065 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What is NOT on the Insert ribbon [ menu in M5 Word 20167

Options:

1. % Shapes

2. % Clip Art

3. # Page MNurmbers

4. % Thesaurus

Question Number : 31 Question Id : 8801791065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MS Word 2016 H 5-ae e | B 08 FT 751 57
Options:

1. % gy

2. % fgem

3. % U e

4. ¥ seamia ()

Question Number : 32 Question Id : 8801791066 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
begins a paragraph's second and subsequent lines of text at indent marker.

Options:
1. * Left Indent

2. % Right Indent
2. ¥ Hanging Indent
4. ® Center Indent

Question Number : 32 Question Id : 8801791066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
______ T2 AT U T 21 GHET 31T e i Uil S 5T wedT gl

Options:
1. % gnigee
2. ¥ gmizde



3. ¢ g ege
4. ® memEdc

Question Number : 33 Question Id : 8801791067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

what is the margin of a page when M5 Office 20032 default option is selected for top and bottorn while printing
a docurment?

Options:

1.4 1inch,1 inch
2. % 1linch, .Sinch
. % Sinch, .Sinch
4. % 1inch, 1.25inch

Question Number : 33 Question Id : 8801791067 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

M5 Office 2003 # UF TEq1o &1 TUTE F0d AT UF AT I8 & 0T 37 5 F 70 BwTes Ewen &1 o0 oot a7 I8 97
AT FATF1AT 57

Options:

1.v 159 159

2 % 18 SE
3 % SEg SEd
4 % 1% 1,258

Question Number : 34 Question Id : 8801791068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Copreat Towo M H SAndzzks
Caplaa Dsl BELer O sedanias
Capitalize: st eler of t=hly oals
ks panes oF daws

The above displayed are the check boxes in the AwroCorrect tab, Which option has to be chosen 1o enable capiralisation
of names of davs in week?

Options:

1. % Correct TWo [Mitial CApitals

2. % Capitalize first letter of sentence

% % Capitalize first letter of table cells

4, ¥ Capitalize names of days

Question Number : 34 Question Id : 8801791068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Cerreck Tolo 1B Copkas
:-rl."l.:‘ 2 fiedd ellar ol A e
Cepilbalon lind eltar ol Labin CRiks

Lepks o= pames of days
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Options:




1. # Correct TWo INitial CApitals

2. % Capitalize first letter of sentence
= % Capitalize first letter of table cells
4, ¢ Capitalize names of days

Question Number : 35 Question Id : 8801791069 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The below icon is present in the group in Mailing tab.

Envelopes

Options:

1. % Create

2. % Start mail merge
Z. % Preview result
4 % Finish

Question Number : 35 Question Id : 8801791069 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A= femm mar aEEs AT &9 ¥ W weEg A Aleg war 82

Enveélopes

Options:

1. ¢ Tpue (Create)

2. % T B W (Start mail merge)
3 ® ey e (Preview result)

4. % Thi=ar (Finish)

Question Number : 36 Question Id : 8801791070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
what is the cormmand to switch between applications in Windows?

Options:

1. % TAE + DEL

o ¥ ALT + TARE

% % [t is not possible
4. % TAE + Shift

Question Number : 36 Question Id : 8801791070 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

T | Uitaera=a & = o # & TolT i o/ 27
Options:

1. % TAE + DEL



> ¥ ALT + TAR
T % qpEMa AR R
4 # TAE + Shift

Question Number : 37 Question Id : 8801791071 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
which of the below options describe the correct parameters present in the change case heading?

Options:

1. % UPPERCASE, lowercase, Zapitalize Fach Word

2. % UPPERCASE, tOGGLE cASE, lowercase

3. ¥ Sentence case, lowercase, UPPERCASE, Capitalise Each Word, tOGGLE cASE

4. % UPPERCASE, Capitalise Each Word, tOGGLE CASE

Question Number : 37 Question Id : 8801791071 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
et Tar T FEmredt # & S 97 2 g STET H Iuiesd INTHTeT 1 We T ST Hea T Y

Options:

1. % e, AleRod, FiueAled oo a2

2 B e e, ATa g

3. ¥ i o, AlaRa, AU, FIUTATES o 8, @ TAhe
4, ¥ e, FieAET o 98, TS

Question Number : 38 Question Id : 8801791072 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

which of the following internet services operates over a normal telephone line sirmilar to DSL?
Options:

1. ® Digital Subscriber List

2. ¥ Dial-up
% ® Digital Service Line
4. % Data Service Line

Question Number : 38 Question Id : 8801791072 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

T 8 T F19 O getde Gar DSL F GA T SE G @15 08 @ T 87
Options:

1. ® 2T Geawget oee

2. ¥ ZEE-A

3. % e |fod A

4 ® ZerHfda e

Question Number : 39 Question Id : 8801791073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Depending upon your subscription plan, if you want a faster web browsing speed than dial-up, your local
phone provider may also give you access to

Options:
1. ¥ cable broadband



= # satellite
2. # fiber optic service
4 « DSL

Question Number : 39 Question Id : 8801791073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
e ST STAe - 570 W a1 H ol ofel STFhar] TTi Tgd & a1 ST ST Ao o ST 0¥, SIT0ehT T 1 i WGl T SITieht

EIRFEEHE TR ET]

Options:

1. ¥ Fad dlsds

2. ® QAT (FUUE)

3. ¥ mEay ATted dar
4. ¢ ZiEud (DSL)

Question Number : 40 Question Id : 8801791074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
allowrs the internet users to tallk across internet to any corrputer equippad to receive the call,

Options:
1. * Internet Relay Chat (RC)

2. % Internet messaging

2. ¥ Internet Telephony (VolF)

4. # Newsgroups

Question Number : 40 Question Id : 8801791074 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

T o & 19 & gee AT et-e IR (9l ® HIe UTH B o (o] =i et T POee UF Seine o a1 Fee 3l e
AT R

Options:

1. % gevde fer g (RO

2. % ZoedT BEET

3. ¥ TotaT ST (VolF)

4 % GUER 9E (=3 )

Question Number : 41 Question Id : 8801791075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following information retrieval services enables the users to transfer files?

Options:

1. # Archie

2 ® YEROMICA

3. ® Gopher

4. File Transfer Protocol (FTF)

Question Number : 41 Question Id : 8801791075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
TafeTET § & &9 | Go1 Wi SaT U il ® ST B ST T Fe 6 o Wai w57

Options:



1. % ot (archie)

2. % I (VERONICA)

3. % M (Gopher)

4. ¥ THTEA TIHE0 AR (FTF)

Question Number : 42 Question Id : 8801791076 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following is the cheapest broadband option?

Options:

1. * Fiber optic otherwise knowrl as FiOS
= % Cable modern

3. ¥ DSL

4. % Satellite

Question Number : 42 Question Id : 8801791076 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
ety dieds Tt § & 219 g aear 27

Options:

1. % WEew MTted Ford FiQS & 910 & AT 9197 5
2 % Fad Hi=d

3. ¢ Ziuaud (D5L)

4. % gy (Satellite)

Question Number : 43 Question Id : 8801791077 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

which of the following internet cormmunication services is used to organise group of internet users to share
cornrmorn information through e-mail?

Options:

1. # Telnet

2 % E-mails

3. ® Newsgroups
4. ¥ Mailing Lists

Question Number : 43 Question Id : 8801791077 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

%%ﬂﬁm%mﬁwawrﬁmmmﬂfﬁqédmcmﬁﬂfﬂ@?ﬁmﬁg ______ Tav-T G G T AT
T

Options:

1. % ¥Fe

2 ® E-Aa

3. % =W
4, AT gt

Question Number : 44 Question Id : 8801791078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



______ is a web service that is a method of comrmunicating by two-way video and audio transmission with help
of telecornrmunication technologies.

Options:

1. % World wide web

2. ¥ Video conferencing
3. ® FTP

4 * Telnet

Question Number : 44 Question Id : 8801791078 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

______ T SeeT Gl § <1 GUalTe WIS Bl @ETeaT | TSR i ot siTie T ST W= He @i g @i g
Options:

1. % gr2 9Es dd

o o et wHEET

3. % Uweml FTP)

4 ® TT

Question Number : 45 Question Id : 8801791079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
& typical URL could hawve the form http. [ fwww example comjindex html, in which index htrml indicates:

Options:

1. % a hostname
2. # 5 protocol
2. % an address

4 % 3 file name

Question Number : 45 Question Id : 8801791079 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T AHFA URL http. | fwwew. example. comjindes htrml & 7 & 57 @@471 81 951 index. html =T 5T #a1 57

Options:

1. % e g (Hefe ) 8
= R Owm OiEiEe

3% g

4 ¥ UF BIEA AH

Question Number : 46 Question Id : 8801791080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Datagram MNetwork: is a type of:

Options:

1. % Circuit-Switched Cormmrmunication MNetworl
2. ¥ Packet-Switched Cormrmunication Network
2. % Point-to-Point Networl

4 % Broadrast Corrmunication MNetwork

Question Number : 46 Question Id : 8801791080 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Options:

1. ® wie-Tres =N Sad
2. ¥ e -Tries v Sead
3. % Olge-g-uise Hoaw

4. ¥ TN GRS

Question Number : 47 Question Id : 8801791081 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Identify the social media to which ZOHO mail CANNOT link?

Options:

1. % Flickr

2. % LinkedIn
3. % Twitter

4. % Facehook

Question Number : 47 Question Id : 8801791081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
I AT AITZ=T & uger= @, e ZOHO B3 %1 6@ A5 & 9edT 57

Options:

1. ¢ et
o % Towsga
3. % fiw

4 % GHgE

Question Number : 48 Question Id : 8801791082 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The MS Office application that manipulates data organised in rows and colurmns is called

Options:
1. % M35 Excel

% MS Word
3. % MS Presentation
4, % MS Outlook

Question Number : 48 Question Id : 8801791082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
M5 Office ULaTeha, ST Uil 2 F1ard H cOa e SoT &1 JUamT #dl e, a5 ______ FEATT ol

Options:
1. % M3 Excel

2 % MS Word
2. % MS Presentation
4. % WS Outlook

Question Number : 49 Question Id : 8801791083 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What 15 the key combination to change the font in M5 PowerFoint?
Options:

1. ¥ CTEL + SHIFT +F

2. % CTREL + SHIFT + <

3. ¥ CTEL + SHIFT +F

4 % CTREL + SHIFT + >

Note: For this question, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options ar e chosen.

Question Number : 49 Question Id : 8801791083 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

M5 PowerPoint ® BT dge- & 5T gt 3= 7747 37
Options:

1. % CTREL + SHIFT + P

Z. % CTEL + SHIFT + <

3. % CTEL + SHIFT + F

4. % CTEL + SHIFT + >

Note: For thisquestion, ambiguity isfound in question/answer . Candidate will get full marksfor this question if any of the correct
options are chosen.

Question Number : 50 Question Id : 8801791084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In MS Word 2003, which of the following options is NOT available in Insert = picture?
Options:

1. ¥ Graph

2. % Word Art

3. % Clip Art

4. % Auto shapes

Question Number : 50 Question Id : 8801791084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MS-Word 2003 & T # O &7 @1 FcT s=ac > Re=r & 39erey a8 22

Options:
1. ¥ E
2 % a2 aw
3. ® oo armd
4 % Tt a7

Question Number : 51 Question Id : 8801791085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which slide shows in MS FowerPoint 2007 allow you to adapt a single presentation for multiple audiences?

Options:
1. % Custom
2. % Hand out

3. % Printing



4. % Simple

Question Number : 51 Question Id : 8801791085 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
MS PowerPoint 2007 % H19 AT €ASS AT SITHRT T sAiarait & o Ude Usea st & gierer 29T 57

Options:

1. % F&A

2. % 2= 33T Hand out)
3. % fifer

4. % {EAWT (Simple)

Question Number : 52 Question Id : 8801791086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

which of the following events is in the right order to ‘change the location of the Legend’ in chart in excel in MS
Excel?

Options:

1. % Click desired location > Click the arrow nesxt to Legend

2. % Click the arrow next to Legend = Click desirad 1ocation

% % Left Click the arrow next to Legend > Click desired location

4. % Right Click the arrow next to Legend > Click desired location

Question Number : 52 Question Id : 8801791086 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
MS Excel # AT ¥, ‘Fe & T F1 UGG a &9 & 5q & Maierad § F ®9 9 aeang 98 w0 7 57

Options:

1. % 27 T W TFold @t > wieie o dlg 109 o 1€ UF Teborel e
= W TFE O T o A 1€ OF Toer @ > SF TUIE UT oot o

3. % SNz o ag IR W AT ST e Y > TF VI W e @
4, ¥ FFE o AE 40 UL 318 S [T @ > ST A UL e @

READING COMPREHEMSION

Section Id : 880179113

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 5

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 880179113

Question Shuffling Allowed : Yes



Question Id : 8801791087 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cesticn Label | Comprehension

Fead the passage givenl below and answer the questions:

The role of museurns, libraries and archives is undergoing a revolutionary change. For all these yvears
museums focused on objects and displays with write ups. Learning was lirmited to those who personally wisited
rmsenrns and libraries.

Digital revolution has changed this concept. It is now providing tools that offer opportunities for learning
institutions all over the world. Musewrms too are now engaging digital technology to expand their cutreach thus
enabling people to learn more, shape their opinions, and make decisions in daily lives.

Today anyone can access inforrmation which previously was only available to experts. This shift of learning
patterns has forced many institutions to adapt and think of ways to maintain their uniqueness and add value
to their services.

Museums, libraries and archives are now asking -- How can we prepare ourselves to reach the generation of
digital natives who hawve a huge appetite — and aptitude — for learning? Are we exploiting all possibilities
offered by digital technology? Are we applying it in innovative ways across institutions?

And a much higger challenge than this ;. Are we using cur content and new technologies to bridge the
‘opportunity gap’, between learners of different income groups?

Digital technology has proved to be a great equaliser.

Ev providing online access to digitised chjects, images, and records it has dernocratised knowledge. And it has
reached out to those who cannot make personal visits.

Ev increasing the capacity of individuals to engage with collections and upload their owr stories, it has also
bridged the gap between formal and informal education.

Museurns and libraries have newer challenges to face which they need to overcome if they have to maintain
their elevated role.
The purpose of such institutions is to connect with visitors and add to their learning.

The biggest transformation can be seen in Universities where computers have replaced the old style
Classroorrls to assist virtual learning platforms. Faculty too now spends less time lecturing and gives rmore time
to interaction.

Most musenrms are now sharing information without placing any restrictions on the use of high digital images
Or COMNtEnt.

Sub questions

Question Number : 53 Question Id : 8801791088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Choose the most suitable title for the above passage.

Options:

1. * Impact of digitisation on learners and institutions

2. % Digital technology helps museurms and libraries bridge gaps
2. % The disappearance of the old classrooms

4. % Importance of museumns, libraries and archives

Question Number : 54 Question Id : 8801791089 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Digitisation has democratised learning by

Options:
1.9 allowin g access 1o resources to one and all

2. % reaching out to university professors



= % providing services of experts in different fields

4. % encouraging personal visits by people

Question Number : 55 Question Id : 8801791090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following challenges is MOT true?

Options:

1. ® Reaching out to learners with huge appetite for learning
2. % Finding ways to bridge the gap between learners

3. % Connecting with educational institutions through experts

4. ¥ Finding innovative ways of exploiting technology

Question Number : 56 Question Id : 8801791091 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The term, ‘opportunity gap’ refers to the differences among learners gererated:

Options:

1. ¥ by mixed or different abilities

2. ® by better resources and technologies
2. % by medium of instruction

4. ¥ Py economic backgrounds

Question Number : 57 Question Id : 8801791092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The passage deals with:

Options:

1. ¥ how digital revolution has affected traditional storehouses of knowledge and universities.
2. % sfforts made by museumns and libraries to digitize information.

3. % problems faced by people in accessing information under digitization.

4. % sfforts made by museums and libraries to bring about more public visits.,

Question Id : 8801791087 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Juestion Label - Comprehension
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Sub questions

Question Number : 53 Question Id : 8801791088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

= T 3 oy e 3w e

Options:

1. % Taremisiat s St o TE R e @ mdTe

2 o TZRea dreiitet Sugeal oK Eadeal & i Saed @ e d Aeg #edl g
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4 % guEE, [Eawedl o SRwEETR ® Hged

Question Number : 54 Question Id : 8801791089 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
[SIEMEE R & BT AT BT AR T a7 15T 2]

Options:

1. STt T i 3 S T agni 3%
2 % Traldenaa & W] T Sell &7

3 ® O gt o et & S ne e awe
4 % T ERT SR ST W Wi e S

Question Number : 55 Question Id : 8801791090 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TH R Al Hl g 57



Options:

1. % i T aaTies 9 e [yt g aga
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Question Number : 56 Question Id : 8801791091 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

e, ST ST & o0y (et & S a7 w e e wear e
Options:

1. % THiEm a7 [y gwarert & znr

2. % gpaw ganeEt o orenmiat ger

3. ® Taygr o ATETE

4. smidie T BT

Question Number : 57 Question Id : 8801791092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
g AJede E o e 57

Options:

1.p-'f’ Tefea ®ifd & 9 o ol & uRufor YERT @ 3 T T g

2. % wmrett @ R Rt we & o SugTet ofiT qeamteral T T T o
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QUANTITATIVE AFTITULE

Section Id : 880179114

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 880179114
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 8801791093 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Study the given information carefully and answer the question that follows:

A urn contains € red, 4 blue, 2 green and 2 yellow marbles.

If four marbles are picked at randorn, what is the probability that one is green, two are blue and one is red?
Options:



24

13

11

Question Number : 58 Question Id : 8801791093 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
TrafeiRaT ST @7 sagder areaae w¢ afte T g my wet @ 3w )

UF TASH 6 A, 4 A6, 2 5 3% 3 diet Aea g
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Options:

24

13

11

Question Number : 59 Question Id : 8801791094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
IfFP . Q=24 Q:E=5:7andkE:5 =8:95 then P : S would be:

Options:
1 ® Tt
o R TR



4.9 10221

Question Number : 59 Question Id : 8801791094 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
qEP: Q0 =3:4 QR =5:7dFR:5=58:9 P 5 FTE
Options:

1_&3:?
2_&5?:3
=% 21:10

4 v 10 @ 21
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In the following question. two equations oumbered I and II are given. Solve both the equations and select the correct

optiom.

L Byl —18x+90 - D
1. 20y —13y4+2=10

Options:
1.V Ifx>vy

2 % fuzy
3 R Ifx<y
4 ¥ [fx=vy
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|, S5x*—18x+9=0
. 20y*—13y+2 =0
Options:
1. Jaﬁx T
o %A=y
3 ® ﬂﬁ[x ¥
4 % AEx =y
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The average age of seven boys sitting in a row facing MNorth is 26 vears. If the average age of the first three
boys is 19 years and the average age of the last three boys is 32 years, what is the age of the boy who is sitting
in middle of the row?

Options:

1. % 28 vears
2. ¥ 29 vears
3. % 24 vears
4. % 31 vears
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o T SR G ek Ue Uitk o8 T e ] 9T g 26 o4 81 Iie Ugel o raem! o Sl oy 19 @ § &l eIy & of i+
ﬂsaﬂ‘fﬁaﬂggrmﬂaﬁ% ﬁwﬁa%ﬁaﬁéﬁaﬁ%mﬁmﬁ@ﬁ? "

Options:
1. % zgad

= & 2o
3 % oaqf
4 # 31 o

Question Number : 62 Question Id : 8801791097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: O
What will come in place of question mark (?) in the following question?

(0.64)*+ (0.512)° x (0.8)* = (0.8)" 73

Options:
1. %5
2 % 12
390
4 % g
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fAreafof@a Tt #r g@er J Tafes (7) & T 9T FAT HTE ?

(0.64)* + (0.512)% x (0.8)* = (0.8)? * 3
Options:
1. % 5
2 % 12
2 V0
4 % g
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Correct Marks: 1 WrongMarks: 0



The cost of 8 kg of almonds is equal to the cost of 50 kg of apples. The cost of 19 kg of mangoes is 0456, The
cost of 1 kg of apples is twice the cost of 2 kg of mangoes. What is the total cost of 2 kg of almonds and 4 kg
of apples together?

Options:

1. % 02,168
2 % 02248
3. ¥ 02,184
4 % 02264

Question Number : 63 Question Id : 8801791098 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

1. ¥ 02168

Z. % 02,248

3.9 02,184

4. % 02,264
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Question Number : 64 Question Id : 8801791099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Use the following series of elements (letter-mumber-symbol) to answer this guestion. Every two-digit number (given in

brackears) is to be treated as ope vnit,

2 * 8§ 56B9% Q 3IEILT7RDA EEINHU @K (I8 A (14 P

Which of the following group of elenzents will come in place of the question mark in the series given below?

o

6E2 B3 EQY fi EDT

Options:
1. ¥vER13

2. % @(13)4
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Question Number : 64 Question Id : 8801791099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0
TH 95F 1 Iead gl & A0 92T (HEH-HEA-OAE) 7 PR AW & U F| TedF a HE
HEDT (Feas # &7 72) FT UF HEAT AT ST =80

2 . g s 6 = 9 g Q 2 E 1 7 R D 4 E (13
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ferFelioie SFET H 95 RIEe (7) & FU 9 FiH H U8 #1 HHg FRLE?

682 =B 5 EQ9 . A B

Options:
1.¥R13
2 % @134
3 ®BUED
4 ® AKU
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Answer the following question based on the amangement given below;

YW@ I &CNIPLBOT=D*EZEMVST#4FGS

Fhree of the following four are alika in a carmain way based on the above arrangement and hence form a group. Which
one does NOT belong o the group?

Options:

1% xy 2 M

2. % t2DE

=¥V LDE=

4. % VF74
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Options:
1. % =y oM
= % {ZDE



3. ¥ LDE=
4 ® VF7 4

Question Number : 66 Question Id : 8801791101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following will come third if all of them are arranged alphabetically as in a dictionary?

Options:

1. ¥ Radical
2. % Radiate
2. % Racket
4 % Radius

Question Number : 66 Question Id : 8801791101 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: O
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Options:

1. % Radical
2. % Radiate
2. % Racket

4. % Radius
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Correct Marks: 1 WrongMarks: 0
which of the following will come second if all of thermn are arranged alphabetically as in a dictionary?

Options:

1. # Electric
= ¥ Elector
2. % Elect

4. % Electrode

Question Number : 67 Question Id : 8801791102 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

1. # Electric

2« EBlector

3. * Elect

4. % Electrode

Question Number : 68 Question Id : 8801791103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Select the option that is related to the third word in the same way as the second word is related to the first
wiord.

Termpest ; Storrm ;o Sl
Options:



1. % Fat

2. % Plurmnp
3. ¥ Slender
4. % Begutiful
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Options:

1% g

E i

3. v gad

4 % @I
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Correct Marks: 1 WrongMarks: 0

Select the option that is related to the third number in the same way as the second number is related to the
first number.

Options:
1. % 12
2 % 13
3. ¥ 15
4 % 31

Question Number : 69 Question Id : 8801791104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

1. % 12

2. % 13

3.9 15

4 % 31
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Correct Marks: 1 WrongMarks: 0
Which date 15 known a5 ‘Tiabetes Day'™?

Options:
, % 14 February

5 % 14 May

= # 14 September

4 « 14 November

Question Number : 70 Question Id : 8801791105 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
o Tt =1 s oo & w0 # AT ST A

Options:
1. % 14 meaer

= R 1ame
2 % 14 e
4 % 14 9w

Question Number : 71 Question Id : 8801791106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0
Michael Ferreira is associated with which of the following Zames | sports?

Options:

1. # Tennis
2. ® Golf

3. ¥ Eilliards
4 % Chess

Question Number : 71 Question Id : 8801791106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

1. % e

2. ® Tiew

3. ¢ Tftaed
4. % g



Question Number : 72 Question Id : 8801791107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The first Indian doubles duo to win a bronge medal at the World Badminton championship 2011 at London
consisted of:

Options:

1. ¥ Jwala Gutta and Ashwini Ponnappa
2. % Saina Nehwal and Jwala Gutta

2. % Saina Nehwal and Ashwini Ponnappa

4. # Jumla Gutta and Harpreet Jadeja
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Options:

1. SaTell T &7 ST aieaT
2. ® grgAT Hgard W sdrer 1T

3. ® HEAT g ST ST O
4 % FETAT ST S gOiT 2=
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Gir forests are famous for lions. They are located in:

Options:

1. # Jharkhand
2. # Chhattisgarh
2. ¥ Gujarat

4 ® Assam

Question Number : 73 Question Id : 8801791108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Options:

1. % gwEs
2. % g
3. ¥ TR

4 % arq
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Correct Marks: 1 WrongMarks: 0
SEZ act was passed by the Farliament in the year:

Options:
1. % 2004

2. ¥ 2005
3. % 2008
4. % 2000
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Options:

1. % 2004
2. ¥ 2005
3. % 2008
4 % 2000

Question Number : 75 Question Id : 8801791110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: O
Wwhich among the following is NOT a work of Rabindra Nath Tagore?

Options:

1. % Chitra

= ¥ Kapal Kundala

3. ® The Court Dancer

4. % Chitrangada

Question Number : 75 Question Id : 8801791110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. % &=

2. ¥ FTUA Fal

z % @l M

4 % FrEmer

Mock

Group Number : 2

Group Id: 88017961

Group Maximum Duration : 5

Group Minimum Duration : 5

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 1

Mandatory Break time: Yes

Group Marks: 0

English Tvping Test

Section Id : 880179117
Section Number : 1
Section type: Typing Test
Mandatory or Optional: Mandatory
Number of Questions: 1

Number of Questionsto be attempted: 1



Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 880179117
Question Shuffling Allowed : No

Question Number : 76 Question Id : 8801791111 Question Type: TYPING TEST Display Question Number : Yes

Sururer CAITips are SupEI‘ViSEd CaIrps corducted to entertain as well as equip students with various life skills
such as tearnwork, socializing, decision making, independent and responsible living and more. It aids the
overall development of a child and children hawve fun during this process as they get to explore new arenas.
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Question Number : 77 Question Id : 8801791112 Question Type: TYPING TEST Display Question Number : Yes



Business attire is the clothing vou wear in professional settings. You might decide how to dress depending on
the type of office you work in, for an interview or for a meeting. There are varying levels of business attire
ranging from casual to business formal. Based on the setting, you can decide which kind of business attire is
appropriate. Below is an outline of the most cornmon types of business attire. Casual. Casual business attire is
informal clothing worn not only in most business settings, but also in many settings outside of work. You
might wear casual clothing if you work in an informal office where wearing t-shirts, jeans and open-toed
shoes is perfectly fine. You should avoid wearing casual dress with clients and in interviews, even if the office
15 casual overall. Smart casual. Smart casual is another form of casual business attire with a stylish twist. You
might include more trendy pieces of clothing if dressing in smart casual. This type of business attire is
appropriate for more flexible offices including informal settings. ¥You might also choose to wear smart casual
ir1 an interview for a more informal office. This way, you fit in with their informal dress code while still
maintaining a clean, professional look that conmmunicates that you care about your appearance. Business
casual. Business casual is a corrmmon form of dress worn in many offices. It is appropriate for many
interviews, client meetings and office settings. Because it 15 not very casual and also not very formal, this is
usually an appropriate way to dress if you are unsure about the setting. Business professional. Business
professional is a traditional form of attire used in mere conservative settings or comparnies with strict dress
codes. You rmight wear business professional in industries like accounting, banking, finance, government or
law. Business professional clothes should be well-fitted and may be tailored to fit you specifically. Business
formal. Business formal is reserved for the most formal settings such as award ceremonies, special dinners,
benefits or other important evening events. Gender neutral professional dress. There are several ways of
dressing for the workplace and different degrees of formality that do not adhere to a gender binary. You can
dress gender neutral elements up or down depending on the situation for which vou are dressing. For casual
dress, jeans, sweaters and shirts are all great options. For shoes, you might choose trendy sneakers, sandals or
loafers. For more formal forms of dress, you might choose slacks or trousers. Pant suits are a great option for
any formal settings. These can be paired with flat or heels. In simple words, if vou work in an office, pay close
attention to the way people dress. While the office may be casual, you rmight notice that people in leadership
positions dress slightly more formal. You may choose to dress similarly to the people who hold the position
you would like to reach. In any setting, avoid overly large or busy accessories, heels that are four inches or
higher, and any clothing with offensive imagery or phrases.
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